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Instructions

1. All questions are compulsory.

2. Figures to the right indicate full marks.

3. Make suitable assumptions wherever necessary.
4. Start new question on new page.

Q.1 Do as Directed.
A Multiple choice type questions
In which type of Annuity payments are made at beginning of specified period?

1.

1.

a) Annuity Due
b) Perceptual Annuity

.| = ZRN , N belongs to
100

a) Interest
b) Time period

a) na"* c) na
b) na" d) na
d(u+v)
dx
du dv du
au—-v—
dx dx dx
b) vd—u ud—v d) d_u
dx dx dx

If R is the revenue, then Marginal revenue M.R is

dR dM
a) —— C) ——
dx dx
b) d—P d) d—C
dx dx
B). Define the following. (Each of 1 mark)
Annuity
Continuity

2.
3.
4.

5

Total Revenue function
Profit function
Derivative of a function

C). Direct questions. (Each of 1 mark)

1.

2.

Write the formula for Compound interest.

! (1)
lim| = |=
X—00 X

Find the derivative of y =2Xx+ X°

dex: +C

_[uvdx =

¢) Ordinary Annuity
d) None of these

c) Rate of Interest
d) None of these

(05)
dv
dx
d_v
dx
(05)
(05)
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Q.2 Answer the following questions.

A). 04+03

Y 1 ty=— % thenfing . (04+03)
log x+1 dx
3

2. Find the derivative of xe* + X2

B). 04+04
) 1. If x=at’andy = 2at , then find c;_y ( )
X
2 2 d
2. 16X 4+ Y1 then find =Y
a~ b dx

Q.3 Answer the following questions.
A). _ x*+3, if x=£0 . _ (04+03)

1. Show that the function f(X)= ) is not continuous.

1, if x=0

2. Find the equations of the tangent to the curve y = x* —x at (0, 1).

B). 1. Ifthe cost function isC = X® +5x? + 2x +100 , find the marginal cost function and (04+04)
average cost function.
. o 100 -
2. The demand function of a commodity is X = , find the marginal revenue
when the demand is 15 units.
Q.4 Attempt any two questions. (Each of 7.5 mark) 15
X

EvaluateJ. (x—1)(x— z)dx using partial fractions.
B) 2%

Evaluate ,[X €"0X ising integration by parts.
C)

7500 — x°

I the demand function is p = 100 . find the maximum revenue and also find the price

for maximum revenue.

D) 1 d’y _dy
Ify=x° |09(;), prove that XzW_X&_"ZX =0
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